BFEAE  55kek

3k EEE CRIRIE)
B % ®E  (FEH
¥ B & 6 (AR
® B E F o FIzxes-o)
moE = E RAEEF)
E OB OE B (E2HRER
MEF R OE (LEaHEmE)
B % ow A (FEm)
I\ ¥ (ukhrEg)
b - # (J\FIZ%)
5 B fii RE@EXE)
X woE (LEmE)
BIA % ® (B
1 5 & i
EEH | K Kk ESH
3L m o =
31 AN | 2

i

&
]

7
-

BEFE2
FAEES

@ M o2 m E M o o@ o
S B H & #H S I g B
A dm qm dm @ @ @ O oy m
— N — N N — — N N —

TF2'2?"=12—2
FO' 157 (4-0)
TFO' 45"=10-0
EEBS
FO' 39" (8-0)
EEBS
TF3’ 23°=0-10
I 5_6
F4' 50" (4-1)
TF1' 05"=0-10
TFO' 527=10-0
F1'04” (10-0)




